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MNU 303a Bronze Outcomes 1-4 

             Calculate 

 

 
 

 

            Calculate 50% of $8. 

 

 

 

MNU 307a Bronze Outcome 3 

 

 
         If 𝑒 = 1, 𝑓 = 2 and 𝑔 = 3   

           evaluate;   

 

            (a)     𝑒 + 𝑓 

 

            (b)     5𝑔 

 

MTH 314a Bronze Outcome 2 

 

 

         A milk truck is  

           travelling the 12 mile  

           journey back to the depot.  
 

           How long will it take to get  

           there if its average speed is 6  

           miles per hour?  
 

MNU 310a Bronze Outcome 4 

 

 

         A washing machine can be  

           bought on hire purchase by  

           paying an initial deposit of £90  

           followed by 8 equal instalments  

           of £65 each. What is the cost  

           of the washing machine? 

  
 

MNU 309a Bronze Outcome 4 

 

 

My score: 
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            Calculate 

5

6
 of 30 millimetres. 

 

 

 

MNU 307a Silver Outcome 2 

 

 

           What is the 3-figure bearing  

           from Glasgow to Tallinn? 
 

 

MTH 317b Silver Outcome 3 

 

 
           Calculate the size of the   

           missing angle in the triangle  

           below.   

 
 

MTH 317a Silver Outcome 3 

 

           Calculate 

 

7

15
+
1

2
 

 

 

 

MTH 307b Silver Outcome 1 

 

 

           Write  
17

25
  as a percentage.   

 
 
 
 

 

MNU 307a Gold Outcome 1 

 

 

My score: 
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